Dividing Money (F)

—

=~

10.

Calculate each quotient.

37) $3622.30 2. 14 ) $311.50 3. 73) $3372.60
62 ) $2604.00 5. 10 ) $963.50 6. 93) $5877.60
12) $1155.00 8. 11) $210.65 9.  63) $5021.10

If 50 identical figurines cost $1625.00, how much did each figurine cost?
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Dividing Money (F) Answers

10.

$ 97.90

37) $3622.30
—$3330.00

$292.30
—$259.00

$33.30
—$33.30

$0.00

$ 42.00

62 ) $2604.00
—$2480.00

$124.00
—$124.00

$0.00

$ 96.25

12) $1155.00
—$1080.00
$75.00
—§$72.00
$3.00

—$2.40

$0.60

—$0.60

$0.00

If 50 identical figurines cost $1625.00,

$32.50

Calculate each quotient.

$ 22.25

14 ) $311.50
—$280.00

$31.50
—3$28.00

$3.50
—$2.80

$0.70
—3$0.70

$0.00

$ 96.35

10 ) $963.50
—$900.00

$63.50
—3$60.00

$3.50
—$3.00

$0.50
—3$0.50

$0.00

$ 19.15

11) $210.65
—$110.00

$100.65
—$99.00

$1.65
—$1.10

$0.55
—3$0.55

$0.00

3.

$ 46.20

73) $3372.60
—$2920.00

$452.60
—$438.00

$14.60
—$14.60

$0.00

$ 63.20

93 ) $5877.60
—$5580.00

$297.60
—$279.00

$18.60
—$18.60

$0.00

$ 79.70

63 ) $5021.10
—$4410.00
$611.10
—$567.00
$44.10
—$44.10

$0.00

how much did each figurine cost?
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